


Exercise 2





FORECASTING EMPLOYEES GROUP NAME:  	(1) Technicians, ITU-level 3           


                                   	(2) Technicians, ITU-level 4           








BASE INDICATOR NAME:  1000 DEL's (Direct Exchange Lines)   





DESCRIPTION OF THE SCENARIO: 





	A.  Technicians of ITU-level 3:  50 employees/1000 DEL's; 


		Objective in 5 years:  20 employees/ 1000 DEL's; 


		Cost of personnel:  5000 units/year/ employee; 


		Staff movement:  reduction of 5% per year.


 


	B.  Technicians of ITU-level 4:  10 employees/1000 DEL's; 


		Objective in 5 years:  30 employees/1000 DEL's; 


		Cost of personnel:  8000 units/year/ employee; 


		Staff movement:  reduction of 2% per year.


 





GENERAL CONDITIONS:  





    	1.  Actual capacity of the system:  30,000 DEL's    


	2.  Objective capacity at the end of 5 years:  65,000 DEL's		    


	3.  Growth in cost of personnel:  5% per year.  








DEFINE: 





    	1.  Number of personnel/year/level     


	2.  Budget of personnel per level 


    	3.  Annual recruitment per level 
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                                      Presentation of results to Exercise 2: 





FORECASTING EMPLOYEES GROUP NAME:





�
�
BASE INDICATOR NAME:
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�
DESCRIPTION OF THE SCENARIO:
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�
     YEAR


�
  1996�
 1997 �
 1998�
 1999�
  2000�
�
PRODUCTIVITY INDEX 


  (1) ITU Level 3


  (2) ITU Level 4


�
�
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�
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�
NO. OF TECHNICIANS 


  (1) ITU Level 3


  (2) ITU Level 4
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�
VALUE OF BASE INDICATOR:  


1000 DEL's�
�
�
�
�
�
�
COST OF A PERSONNEL UNIT • 1000





  (1) ITU Level 3


  (2) ITU Level 4�
�
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�
BUDGET FOR PERSONNEL • 1000


  (1) ITU Level 3


  (2) ITU Level 4
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�
REDUCTION OF PERSONNEL / YEAR


  (1) ITU Level 3


  (2) ITU Level 4�
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NECESSARY RECRUITMENT


  (1) ITU Level 3


  (2) ITU Level 4�
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